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General Instructions:

1. This Question paper is divided into Six sections- A, B, C, D, E
& F.

2. Section-A: Question no. 1 to 13 are objective type questions
that carries 1 mark for each.

3. Section-B: Question no.14 to 19 are very short answer type
questions that carries 2 marks for each.

4. Section-C: Question no. 20 to 23 are short answer type
questions that carries 3 marks for each.

5. Section-D: Question no. 24 and 25 are long answer type
questions that carries 5 marks for each.

6. Section-E: Question no. 26 and 27 is case based questions
that carries 4 marks.

7. Section-E: Question no. 27 is map based that carries 5 marks.
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SECTION-A (TsS- A)

OBJECTIVE TYPE QUESTIONS (9&I§
UPR b UY) 1x13=13

1. When was the battle of Plassey fought between the Nawab of
Bengal and British?

(@) On 23rd Sept 1757 (b) On 23rd
December 1757

(c) On 23rd November 1757 (d) On 23rd
June 1757
Wt 1 4G S & a1 1R S & ol e TSl 7T UT?

(a) 23 RIdsR 1757 &I (c) 23 fagaR
1757 I

(b) 23 TdR 1757 DI (d) 23 5
1757 I

2. Which year did the Court of Directors of the East India
Company in London sent an educational
dispatch to the Governor General in India?
de H 33 3feu1 Ul & HeRe ded A fhy a9 URd | 7R
SR P Teb Qe TG Wl UT?




(a) 1800 (b) 1854

(d) 1890

(c) 1880

3. Under which Governor General did Raja Ram Mohan Roy

initiative to ban Sati?
(a) Lord Mountbatten
Bentick
(c) Lord Dalhousie

(b) William

(d) Lord Ripon

ST ITH W8 I 3 Idt UUT IR Ufddy T4 &1 Ugd fhg TR

SRA & 3 ot i
(a) @IS HIGCscH
sfew
(c) TS Sgoll

4. |dentify the picture

(a) shri Narayana Guru
Jyotiba Phule

(c) Ishwarchandra Vidyasagar
Rammohan Roy

Guﬁaaﬁﬁﬁqﬁﬁ

OEIKINLE
Sifce Bl

(b) Taferaa

(d) @rs R

(b) Mhatma

(d) Raja

(b) HeTHT



() SYTg fIammR (d) ST
A Y

5. From the following list of the names of the leaders, who did
not belong to the trio- Lal-Bal-Pal?

(a) Bipin Chandra Pal (b) Bal
Gangadhar Tilak

(c) Lala Lajpat Rai (d) Gopal Krishna
Gokhale

Frafafad Aarsft & Al &1 I H 9 HH Aa-a1d-uTd fdd e
Y Heiferd T8t A7

(a) Taft= =i UTet (b) STl TTIER
faete
(c) Tl ATSTud I (d) U7l 80T

6. Name the term given to Growing of Vegetables flowers and
fruits for commercial use.
(a) Pisciculture (b) Viticulture
(c) Horticulture (d) Sericulture
TGS IYINT & forg fesrdl, Tal iR Hall di 3 @ fau
1T Req [ ATH ddIST |

(a) TS YT (b) 3R &l
it

(c) STTaTH (d) ¥R BT Gt
7. Basket weaving falls in the category of

(a) Small-scale industry (b) Cottage

industry



(c) Large-scale industry (d) None of
these

B TS i AUl F el B
(a) Y I (b) HER I
(c) TS THM HT I CESEE
BIg T8l

8. Population density refer to
(@) The number of skilled people in a country
(b) The number of people living per square unit of area.
(c) The number of unskilled people in a country
(d) The way in which people are spread across the earth'’s
surface
SIREAT gcd PT ey of

(a) Top it =1 T H=IQ@ AT 1 TR

(b) U a7l TS & B X aTet ANl bl S|
(c) Toralt =1 & 3fp=IeT <IN bt e

(d) FS 9 TRE ¥ a1 gt 3t Tag W B gl @

9. What was the reason behind abolition of the evil practice of
untouchability?

(a) To end the discrimination (b) To end
the poverty
(c) To end the Muslims in India (d) None of
these
YR D1 HYUT D] FHW HIA b Ul o1 HRUT YT?
(a) HESHTT P JHTW H] (b) TRl

A B & oY



(c) HRA H YIAHM B! @H BT (d)STH
AR

10. A person who does not get adequate nutrition or food is
known as:

(a) malnourished (b) nourished

(c) well-nourished (d) none of
these
o safad &1 gaiw uivor a1 HisH g1 fiadt, 39 &8l oifdl 6

(a) PUIMN (b) TG

(c) gUifdd (d) TTH I BT
el

11. Which is the Article of Constitution that states that
untouchability has been abolished?

(a) Article 16 (b) Article 18
(c) Article 28 (d) Article 17
gﬁwmﬁqm 3G Hedl ¢ b SRYIdT JHTE B & T8

?

(a) 3¢ 16 (b) 3T=9G 18

(c) 3¢ 28 (d) 3 T=5E 17
12. What are public facilities?

(a) Essential facilities (b) Non
Essential facilities

(c) Both (a) and (b) (d) None of
these
TSt AU 1§ ?

ORERCEA LRI (b) TR 3Ta=gSH

gfaemy



() T (2) 3R (b) () THI PR
el
13. The Indian Constitution guarantees the Right to Education
for all children between the ages of

(a) 6-18 years (b) 6-15 years

(c) 6-14 years (d) 6-16 years
YR Tfay™ 98 I9 & GHt 5=l & forg fRiar & SifidR &1
TRET AT 8

(a) 6-18 AW (b) 6-15 Y

(c) 6-14 a4 (d) 6-16 T

SECTION-B (&S- B)

VERY SHORT QUESTIONS (3ifdl €7g
SR UY) 6x2=12

14. What was the main reason of defeat of Sirajuddaulah at
Plassey?

R H RRISRIE ST 8R BT G871 SR T U2

15. When was Santiniketan set-up and by whom?

Yifafda 1 RITGHT &d 3R fPTd gRT P TS At

16. What is meant by the term industry?
3TN Xeg BT AT 34 57

17. Why are people considered a resource?
AR o1 TTE RIT HIHT STl 87
18.Can you list two different provisions in the 1989 Act?

T 31T 1989 o HTUHTH H GT e3¢l UG Feilaeg B
qahd 87




19. What are public facilities?
e Qfaemd o ]2
SECTION-C (ES- C)
SHORT QUESTIONS (97 SR U¥)
4x3=12

20.How did the knowledge of ancient texts help the reformers
promote new laws?

T U4 & I A JURS! DI A B D! dgral g | ol
Heq Bi?

21.Which are the main factors which influence the location of
an industry?

fopft I & R o1 THIfad e aTel T HR&® D A
87
22.What are the objectives of secular state?

YHARUS I & I T 2

23.What are the advantages of foreign companies in setting up
production in India?

HRd H IdTe Mg 3= | fag=h ufai & o v 82
SECTION-D (ES- D)
LONG QUESTIONS (31" 3w )
2x5=10

24. Describe Gandhi's march to Dandi. Why did Gandhi ji
choose to break the Salt Law?

Tiefslt 1 et I &1 quiH x| el St A FH7e® B dieq
&1 fufg i fera?

25. What is shifting cultivation? What are its disadvantages?

A (RFIART) HY 187 SHDH 1 JHAH &7




SECTION-E (&S- E)

CASE BASED QUESTIONS (b9 3myTiRd
U¥) 2x4=8

26. Read the source given below and answer the questions
that follow:

Many more people live north of the Equator than south of
the Equator. Almost three-quarters of the world’s people live in
two continents Asia and Africa. Sixty per cent of the world's
people stay in just 10 countries. All of them have more than a
100 million people. Population density is the number of people
living in a unit area of the earth’s surface. It is normally
expressed as per square km. The average density of population
in the whole world is 51 persons per square km. South Central
Asia has the highest density of population followed by East and
South East Asia.

26.1. What do you mean by population density?
26.2. What is the average density of population in India?
26.3. Where do three-quarters of the world’s people live in?

26.4. What is the average density of population in the
whole world?

1 o e Aa & ue SR FaferfRaa usl & 3w &
YA AT o Iaf01 B gorl T dgd e ST YT 361 & FWR
T I5d B | fay &1 T TH-dIUTS ST &l AgTgIal TR 3R
3PIT | gl 81 g1 & I18 BIae! anT Rt 10 <2 § @A B
S gt @1 TReT 100 TAfer & 31 8 | SHReAT 9 gadt




&1 qdg & U Sl & H Xg- d1dl ANl & Y= 5 1 39
qrATga: ufd 9 frt & U § soad foear oA g | o fay o
SRR T 3T gcd 51 fad Ui ol et g1 gfemr g
TRAT T SHEA &1 U@ 9ay 3@ §, 9% d18 Jd 3R glam
Ud TR o1 RIM 31dT 2|

26.1. SRS 9@ ¥ 3T &1 99 ] 7

26.2. YRd H ST BT 3T g-cd foodT 82
26.3. Tay P} TH9-TNUTS STa1 B8l X8l 82

26.4. U fay T SHRIRSAT BT 39d - fdaT g2

27.Read the source given below and answer the questions
that follow:

Recognising that Muslims in India were lagging behind in
terms of various development indicators, the government set
up a high-level committee in 2005. Chaired by Justice Rajindar
Sachar, the committee examined the social, economic and
educational status of the Muslim community in India. The
report discusses in detail the marginalisation of this community.
It suggests that on a range of social, economic and educational
indicators the situation of the Muslim community is comparable
to that of other marginalised communities like Scheduled
Castes and Scheduled Tribes. For example, according to the
Report the average years of schooling for Muslim children
between the ages of 7-16 is much lower than that of other
socio-religious communities.

27.1. What was the purpose of the high-level committee
that was established by the Indian government in 2005?



27.2. What issue in particular about Muslim children’s
educational status did the Sachar Committee

report raise?

27.3. What major recommendations or conclusions did the
Sachar Committee report make in order to

address the disparities in development that the
Muslim community of India faced?

27.4. What changes have been made to government
initiatives or policies as a result of the Sachar

Committee report that aims to better the lot of

Muslims in India?
1 few e a1 ue ok fAmferfad usl & SwR <

a8 U4 gU fob URd ¥ gaadH fafid faer Soddi &
a § eSS T 8, TRBR 7 2005 B U I Wy Il o
RITOAT Dt | ATIHL AMSTaR TR B eHerdm J, Ifd = URd
o JfH Ter™ & 9HIfi®, e SR fée Rufd &t sia
Bt RO 7 39 & BIRIT IR oM R 3R F == &1 T8
& | U 1 Il § fob < FrAores, Siien ok Qe paiop!
R GRAA Te™ P! RUfT srIyfed Sifd SR Srgfad st
S 31 BT TR ¥gA aTal YHGME! & SRI6R g | 3aTer0l & g,
RUIC & IR 7-16 T8 1 3 & AW =i o I Wpall
ﬁf&ﬂéwaﬁﬂﬁaﬁ&mﬂmm-m%ﬂ@m‘fﬁgmﬂﬁdgd
Hpl

27.1. 2005 H HRd WRHR gRIT VMU 3= TRIT Al &1 I
T UT?



27.2. J=R giAfa @) ROié & fouly =0 @ gfey 5= of 2fere
RUfY & IR DI 1 H&T ST 71 82

27.3. YRd & GiRTH YG&[A & fabrd o 15 Sraqmarsi &1
AT DHRAT UEST, 376 g DR & (o1t =R Fifd
&1 RUIE 7 o 3 e Reiar ar sy Herd?
27.4. T=R IiHfd & ROl & IRUMWERT SR Ugd a1
Hifoat & o Sgand fosu U § et Iy WRd |
TaaHH! & fUTT T dgdR s /7
SECTION-F (&S- F)

MAP BASED QUESTIONS (ATH{<R 3TuTiRd
1 E)) 1x5=5

28. On the outline map of India Mark the following:
(a) Jhansi (b) Delhi (c) Lucknow  (d) Bhopal
(e) Jamshedpur

YRd & 2RIl g TR Fgferfad &1 fafgd &

(a) ST (b) Tl (c) TS (d) HaTd
(e) STHRIGR
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